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/. In the statement above there are five empty spaces. Sami wants to fill four
of them with plus signs and one with a minus sign so that the statement is
correct. Where should he place the minus sign?
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Between 6 and 9 Between9and 12 Between 12 and 15 Between 15 and 18 Between 18 and 21
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8. There are five big trees and three paths in a park. In which region of the
park should a new tree be planted so that for each path, there are the same

number of trees on both sides?
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9. How many positive integers between 100 and 300 have only odd digits?

50 75 100 150
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(23D)* + (’2)2 = 7133029

10. Gamal wrote down the sum of squares of two numbers, as shown.
Unfortunately, some of the digits cannot be seen because they are

covered in ink. What is the last digit of the first number?

55
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11. The distance between two shelves in the cupboard in Mona’s kitchen is
36 cm. She knows that a stack of 8 of her favorite glasses is 42 cm tall

and that a stack of 2 glasses is 18 cm tall. What is the largest number of
glasses that can be stacked and still fit into a shelf?

3 4 5 6 7
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12. On a standard dice, the sum of the humbers of dots on opposite faces is
always 7. Four standard dice are glued together, as shown. What is the
minimum number of dots that could lie on the whole surface?

52 54 56 58 60







